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Questions: No

Question Numbers: (57 to 58)
Cuestion Label © Comprehension
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Sub questions

Question Number : 57 Question Id : 1679436675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0.25
2014 #, 3% F9 A 3R B &7 =77 TF TAW o, aF 37 I F A R B F 3T F F=AT 3gAa

forgar ar?
Options:

% 28 : 3]
w29 : 32
% 29 : 33
13515

Question Number : 58 Question Id : 1679436676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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ar 39 ¥ o (@ H) foRger ar?

Options:

% 1.24

% 1.25
v 1.44

% 1.55

Sub-Section Number: 4
Sub-Section 1d: 167943383
Question Shuffling Allowed : Yes

Question Id : 1679436677 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59to 60)
Juestion Label - Comprehension
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Sub questions

Question Number : 59 Question Id : 1679436678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 60 Question Id : 1679436679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



HIAT gaRT 2015 & AT Fw aw A, C 3k
E WX & aTgar #r §ear 2016 H g f&u
AT B 3T D 9HK F JEgAT F FEIT ¥ Faa
gfaera 31fSF & (T gerHeT T I 87

Options:

% 27.4

% 27.8

% 28.6

« 29.2
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 1679436680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Choose the correct synonym of:

genuine
Options:
% fine

" real
% kind

% gentle

Question Number : 62 Question Id : 1679436681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the correct antonym of:

jumbo

Options:
# monstrous

 miniamure

% grand

% hilarious

Question Number : 63 Question Id : 1679436682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the correct antonym of the underlined word to fill in the blank.

Aunt Beena is a stingy lady compared to my mother who is very
Options:

% persuasive

% caring

« liberal

% protective



Question Number : 64 Question Id : 1679436683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the most appropriate option to complete the sentence.

I met my sisters over weekend before the last and we made our vacation plans.

Options:
# some

% any
% a

« the

Question Number : 65 Question Id : 1679436684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blank with the appropriate word.

Anna not answer simple questions in English even though she had been learning English for a year.
Options:
« could

#® IS
% were

# Was

Question Number : 66 Question Id : 1679436685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the appropriate word.

I am not a movie fan. I watch movies on television.
Options:
% often

% always
» rarely

% almost



Question Number : 67 Question Id : 1679436686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the following sentence four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options.

Competencies are characteristics that we use to achieve success. These characteristics or traits can be included things
like knowledge. aspects of leadership, self-esteem, skills or relationship-building.

Options:
# Weuse1lo

« can be included

» aspects of leadership

% or relationship-building.

Question Number : 68 Question Id : 1679436687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the following sentence four words or phrases have been underlined. One of them is incorrect. Choose the
INCORRECT word or phrase from the given options.

Savita’s neighbour said that however hard she will try, she would not be able to become the table tennis champion of the
college.

Options:
% said that

» will try
% be able to become

% of the college

Question Number : 69 Question Id : 1679436688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the passive voice form of the given sentence.

The gardener warned the children not to pluck flowers.
Options:
% The gardener warned the children not to pluck flowers.



» The children were warned by the gardener not to pluck flowers.
% The gardener is warning the children not to pluck flowers.

% The children warned the gardener not to pluck flowers.

Question Number : 70 Question Id : 1679436689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the most appropriate indirect speech form for the following sentence.

Anjali said to Seema, “I’m not going to Manali with you. I know there are other people waiting to grab my job and I
don’t want to lose it.”

Options:
Anjali said I'm not going to Manali with you Seema. I know there are other people waiting to grab my job and I don’t
= want to lose it.

Anjali said, “I'm not going to Manali with you. I know there are other people waiting to grab my job and I don’t want to
% lose it.”

Anjali told Seema that she was not going to Manali with her as she knew there were other people waiting to grab her job
« and she did not want to lose it.

Anjali said Seema that she’s not going to Manali with her. She knows there are other people waiting to grab her job and
% she don’t want to lose it.”

Question Number : 71 Question Id : 1679436690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the option that best combines the two given sentences.

Caring for all human beings is the essence of all religions. You should not forget it.

Options:
% You should not forget it that caring for all human beings is the essence of all religions.
» You should not forget that caring for all human beings is the essence of all religions.

% Caring for all human beings is the essence of all religions what you should not forget.

% Caring for all hbuman beings which is the essence of all religions you should not forget.

Question Number : 72 Question Id : 1679436691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the sentence that is correctly punctuated.



Options:
% “What a pleasant day? “said Prabhu, “lets go on a picnic to Surajkund.”

» “What a pleasant day!” said Prabhu, “Let’s go on a picnic to Surajkund.”
% What a pleasant day?” said Prabhu, “lets go on a picnic to Surajkund.”

% “What a pleasant day, said Prabhu,” “Lets go on a picnic to Surajkund.”

Question Number : 73 Question Id : 1679436692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Choose the word that is correctly spelt.

Options:
% Immagination

» Desperate

% Controvertial

» Aknowledge

Question Number : 74 Question Id : 1679436693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blank with the appropriate idiomatic expression.

The teacher the students’ request for an outdoor event in the hills.
Options:
% cut a sorry figure at

% Wwas at arm’s length to

% took to task

« turned a deaf ear to

Question Number : 75 Question Id : 1679436694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Fill in the blank with the appropriate phrase/phrasal verb.

We found ourselves of food supplies after being stranded in the hills for 5 days.
Options:
% nning down

» unning out
« looking out

% Wearing out

Sub-Section Number: 2
Sub-Section 1d: 167943385
Question Shuffling Allowed : Yes

Question Id : 1679436695 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehiension



Read the followmng passage and answer the questions that follow.

Life is as vast as space. but somehow we use our bram i a mited
way. Our bram has been using thought as its mstrument for
millions of years. Thought created *1’. This creation has had
tremendous effect on the bram as 1t 1s mited to ‘1". Our whole life
1s lost n bemg a doctor. engimeer or something else. and hence. we
have pigeonholed ourselves mto the roles of our professions. So
our love 1s limited to our specific role. We have discarded the
whole and limited ourselves to the parts. The profundity of life 1s
lost.

Our mind 1s our thoughts and thoughts are nothing but what we
talk to ourselves. Our mind is constantly chattering It 1s a kind of
mner self-talk. and it 1s constantly rehearsing the future. chewing
its experiences. This is because you have no one to talk to. so vou
are talking to vourself. If vou can peep mto your mind. yvou will
tind that the mind is madness m motion. Perhaps someday. an
mstrument can look mto the audio-video of our thoughts. Then it
may become clear that it i1s some kind of madness operatmg. But
we never look mto ourselves. for if we look, we can see the
madness of our minds.

The Katha Upanishad says. “We always look outward and never
look withm: thus we destroy ourselves. Only the courageous
person looks withm.” When you face your madness with courage.
then your mtelligence will search for sanity beyond the maddening
mind.

When you look deeply within. youwill realise you are not mmd.
but there is an mner space where the mind exists. The mind is like
a cloud. and vou are the sky m which the cloud is floatmg. Only m
that transcendence. madness of the mmd will drop.

Sub questions

Question Number : 76 Question Id : 1679436696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

According to the passage, how have human beings
been affected by the thought of self?

Options:
« People are becoming doctors and engineers.

% The brain is getting smarter.

« Professions are getting narrowed.



» People’s love is narrowed to their own selves.

Question Number : 77 Question Id : 1679436697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Choose the INCORRECT option to complete the meaning of the sentence as per the given passage.

Our mind is always
Options:
» looking inwards

% talking to itself
» reflecting on experience

% planning the future

Question Number : 78 Question Id : 1679436698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Choose an option to fill in the blank in the
following sentence.

“We always look outward and never look within ...
Only the courageous person looks within.”

In this sentence the writer suggests that a person
should be in his or her search for the real self.

Options:
% mad

" fearless

» intelligent

% outgoing

Question Number : 79 Question Id : 1679436699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the statement with the most appropriate option as per the given passage.

If the body is like the . the mind is like the ;



Options:
% cloud; sky

% sky: air
» sky: cloud

« cloud; air

Question Number : 80 Question Id : 1679436700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

According to the passage, what can bring an end
to man’s obsession with the self?

Options:
Having an audio-video of the working of the mind.

%
» Understanding the mind to realise the innermost self.

« Floating in the air all through the day.

% Becoming like the beautiful blue sky.
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Sub questions

Question Number : 81 Question Id : 1679436702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 82 Question Id : 1679436703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 83 Question Id : 1679436704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 84 Question Id : 1679436705 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 85 Question Id : 1679436706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 86 Question Id : 1679436707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 87 Question Id : 1679436708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 88 Question Id : 1679436709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘AreTFET oeg H HiF ° TAH 22

Options:

» FEIT

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 89 Question Id : 1679436710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

foee e ¥ W

Options:



, e T
« T A
v T S

Question Number : 90 Question Id : 1679436711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:

Question Number : 91 Question Id : 1679436712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 93 Question Id : 1679436714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct : 1 Wrong: 0.25
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Correct : 1 Wrong: 0.25
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Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 105 Question Id : 1679436726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 106 Question Id : 1679436727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 107 Question 1d : 1679436728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 108 Question Id : 1679436729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 109 Question Id : 1679436730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e dget 1 Fscw o TUE AR §ET BT (xy.zt)  (X\y,Z.t) ST 5F ot TRena G

T g T werE s smuees eew & g9y § A At ¥ 36T gear g1 2 yonferat gamr Ay

g [z Fr oy FA v 3R o' E = T v gEeRer % 9 B, S v AT o' (v, xxl axes & HTY
TERT T 8) F geF F A= &

LR _— LI = i . =
(Pt = e M = W Wil == Uy —

! ¥ I
(@ Up=Ue— VU= Uy, U= U,
Mo, =w to, . =u o, =utu

-. ! ] r
(Bt = Mo bl = g I o= 1y

FHHIOT F FE FE T
Options:

% (P)
» ()
% (1)

% (S)

Question Number : 110 Question Id : 1679436731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e T 7 fATaTes (v §9E "@ET (1) S gEeer J & E Y # aea s

X =pt*+2qt+r1

& p, ¢ 3 r o= &1 O 9T ST § F F0T S0 2" 9X ST 8, 99 n hEes sYeT g@em?
Options:




% —2
o =3
% =4

Question Number : 111 Question Id : 1679436732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TH FUT y = ax? E@RT € ¢ B gAEER 97 & W@y g7 § AR 5w v e x "ew O & R
TSR BT &1 FHH oRuT e e gem?

Options:
1
~ac?
® 2

% (AC>

& 2ac?

% dac?

Question Number : 112 Question Id : 1679436733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

8 -

TIME —

[ gllea oot
—-
(=

-12 Q
38T F0T T 39T T9H TAT PQ IM% & THT 3¥a0« 1= 0 sec ¥ ¢ = 20 sec feg@mm «m g1 W=
IS & foT I 7 IS s A 3W AT & SR FuT F faweras @ e Y

Options:

% 98




v 104
% 128

% 144

Question Number : 113 Question Id : 1679436734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

P FUT oI HIHT H T g T ¢ (o ST TS 598 FHe0T (X, Y,z #el # i t W5 #A)
g x = t24+t+2, y=t —t+1, z = 2singt STOT WG & T+ AT FfHT

Options:

« 41— 9j) ms2
o (28431 + k) ms?
« (21 =3+ 2k) ms?

v 2(i1+17) ms™?

Question Number : 114 Question Id : 1679436735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ot For #r F T ms 1 A (20— 3j + 4k) ¥ vl (i4 7+ k) F er F @y 57 39 @ wes F4w
grem?

Options:

% 3vV3 ms™?!

« 23 ms?

o \/§ ms 1

-
3 s
— ms~ !
3

#

Question Number : 115 Question Id : 1679436736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



TH IEHAT Fer F TAE H G #F 3R vmw F T far 7 v @fFag g wen a ¥ ik b s
F ST Far 1 AR e R ueh F 10 ms! & 7Y F S X Twar & R FE 7 o9EE 4 mst
gl da:b & FAE AT FL
Options:

7

v Al 3

Question Number : 116 Question Id : 1679436737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T iz &ifas & 30° FI0T | Faifa &ar g, aifes T @t & 10 m & g W &rd 5 m & ||
TR Il & SR @ R &Y dw| B fey 7 o e g = 22
Options:

% 20
% 1043
« 10 cot15”®

% 20 cot1b”®

Question Number : 117 Question Id : 1679436738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ofiet i T woie TAF 54 kg TIA FT Tg= FX Thal gl Tole W Tk 05 W 30 RN Fe0 cRoT &

WY 3T AT &1 Tg 9 AT & =0T 8 ms ™ @ € voT ge A €1 TNE & geww A kg # AG
FL| (AT o g = 10 ms™?)
Options:

% 120

% 90



« 30

Question Number : 118 Question Id : 1679436739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
40 kg SETATH & T F&90T & 80 m/s &F 397 ¥ FIT Fr 3T weifg fFar ar &1 5 sec & &€ IE ar

FUET AT F B F1aT & 3K 398  TF @ 100 m/s F 397 § d9a99 FIT $r 30K a7 | 35 THT H
gE T (TR&AT AR fRr #) #r afa @ B2 (7 Afew g = 10 m/s?)

Options:

% 40 m/s FUT & AT
» 40 m/s Arr Fr 3R
% 20 m/s FUT & AT

% 20 m/s #Arr #r AR

Question Number : 119 Question Id ;: 1679436740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

my

N
e av Ry & F9Y F ‘m,’ FeUA AT e # ‘2’ @07 (FEfUT @l & & TT Ui = p)
Fr T & B a9 o smEgwar g

Options:
g (2Mmy + My ) ug + mya

g (My + My ) ug + mya
s (2mM + m;) ug + mya

w (2My + My ) ug+ (my + my)a



Question Number : 120 Question Id : 1679436741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

10 kg Zeo@Ta & o RF 1 v 5% gu e @@ae | @ A §1 9 afas 79 @ Fa oF a
T THAT F FAAG H FEG UF g9 AT AN HeET ¥ §AEMET g1 3T = AvEer § AT
gfaferar &3 N, 3T N, @, 3t (@ Hifsw g = 10m/s?):

Options:

» NiN, = 10* newton?

« N;N, = 2 x 10% newton?
« N;N, = 5% 10® newton?

%« N;N, = 4 X 10® newton?

Subject Related

Group Number : 7

Group Id : 167943123
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Subject Related

Section Id : 167943182

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 167943389
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 1679436742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



10 gm F<TATA & UF FUT UF e &gl ¢Fel 9T Uk Tdell ST T 7T 747 g, = 3y 38 H TF
WW@W%IWWE@?WWEO gm FTATA ITF FHUT FATAT g1 37 97 FT 0T HY
Srgss Try doer & 37 T &faT 79 & vaRg B 5o a1 5 om e G 309 F e § @ e
Heh| (AT afse g = 10 m/s?)

Options:

% 0.5 m/s

+ 1 m/s
# 1.25 m/s

# 1.5 m/s

Question Number : 122 Question 1d : 1679436743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

m; AR M, FEOHA & I Toh TH gE W U oaTs A G Ued Aaaew s ¥ g sk @
TH &8 & OIH & TY W 7T g m, HT T FT Fag F 919 FIT O¥0T 767 & Faie my HRT T
1 TAE ¥ 99 FE TIOT p ¥ 39T oF &9 & g @ IS T GwET 3T ¥ PN T o F O
T TET &1 AT my HR m, T I8 F Aem F FAM 1 AN 1 F QW BT § R e
Tger oY RO e & ey & gouae R dEET § 3 I Bl omy 9 o9 I uNUT a9 &
IOTAT ]

Options:

« My(n — 1)w?

w Ma(r; — Tz)mz
o (myry — m,7;)w?

« (M + mymy)w?

Question Number : 123 Question Id : 1679436744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



T & @ &9 37 " & § H 787 27

(p) TF WA TSR &T H AAAT IFTARAT FHOT I 7T & |

(q) THIET wiafhar, 3§ Hig e fFer T9de §8 W I @ 8l
() TH WUROT g Fr BT F FAa|

(s) U T HETH ¥ I It Tz w¥ RoafEr geedon

Options:

« e (p) 3R (1)

» (p), (@) 3T (1)

Question Number : 124 Question 1d : 1679436745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
10 gm FETAT F TF FT e a7 87 & w97 F T §1 F = 2(sinti+ cost)) == F ¥ =M
FT T A RRFE AT R BTTE T, ST FT Rt = nsec TF FF BFaar gem?

Options:
800 &

. 1000 ST
., 1200 ST

, 1600 STer

Question Number : 125 Question Id : 1679436746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
M ZETATT F UF FT F = —kr’f ZanT RU a0 oenaR s 87 & ysg & =7 @ § A,
Tafoea 7 ¥ 987 SeT &1 99 &1

Options:




Question Number : 126 Question Id : 1679436747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IR 1 kg FTAE T wF T 4 m H ) ¥ v B (7T A 5 gemaeria §) ¥ P s
2.5 m/s? 9T DE FAT &, A 3 ZERT R w fFaer gem? (@ 3T g = 10 mis?)

Options:

x 10 J

« =30 J

160
=
® 3

160
® 3

Question Number : 127 Question 1d : 1679436748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

m FSTAT H UF FR TFHFANATT g7 F d8d UF THAS 80 95F W S ¥ 5¢ B 81 59 9iFar |

1

xa@‘#?ﬂﬂﬁmﬁ?ﬁvlﬂ(%+vl3)gEm%ﬁmmPﬁﬂTﬂxgcﬂamml
g1 fe | AT ol S| gewEar # &, o P & AT 9 7 FEe e gem?

Options:
7 2

% 25

%3



% 4

Question Number : 128 Question Id : 1679436749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T g FHE AR I FEOAT Aol gEY G ¥ TEEr § AR S 36 G # 3ww e w3 % Ay
HET 9T W &1 AR TE TG dee A B R sEwer & o & €, O qefEaRr qune fRaer geme

Options:
3

# 4

0| W

0|

Question Number : 129 Question Id : 1679436750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

2kg FETHATT FT TF sl 1ms™! Fr v ga= 7y o gaae &8s gag W o § 3t o= wa
BT ganr d=r & o sEw & 9T S g, S A # 2 m @ §ifEa & e g1 9 #iew sgea
FAT TR Far grem?

Options:

Question Number : 130 Question Id : 1679436751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



ar T e IREaiE frar it gfafhar & agd =9« ' 21 36 OweH W FE 9Ed a9 F1H 78 7

@ g
IRFT & HUR T A= Gw a1w Fu=t & 5T Fw:3

(p) SO & SeTATA F g Fod 39T F T TAAT &l

(q) JUTEN & SeUAT FT Fg Ueg I97 & T =T 2|

(r) STATT FT Fg TF TAS I F Y T 2

(s) TesT & 3T %H F WS 999 ¢ F0H oA 771 &g Tw A

Options:

x e (p) HET &
x adl (q) HET &

v 1 (1) AR (s) FE &

Question Number : 131 Question Id : 1679436752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T FEOAT & W FUT TH TS & HONT WgHT W W A1 &1 TS F HLOHA. FoTHS F
O & n OA gff T 9 e ¢, ar A @reir shiofrar g 81 & 'n' frwes e gem?
Options:
1
% 6

Ri‘.
- |

[ I

1
® 14

Question Number : 132 Question Id : 1679436753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
L wams 3R M Fe0H= I U BA OF F 95cd HTEUT AT H [SrEeT e 58S WA, ¥ IR §
i o= ¥ 99T B

Options:




ML?

w | =

L M12

— MIL?

— MI?

Question Number : 133 Question Id : 1679436754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

6 m 8T U ©F AB 0-8HTT H 394 A Ty @ v-3187 S & 3eanRr &, W e g1 99 oF Feany
F T 45° FT FHIT IATTT &, af A & IWF 0T 1 ms 2 y-HeT F A Hr 37 g1 379 gHT T
2 Oy IHHT HOMT EI0T FAT FIE?

Options:

(2 (1-7)) st feam

& {% (1 )} TEr-FelleparsaT feam &
(5 (1-3)) o o &
 (F(1-7)) i e 3

Question Number : 134 Question Id : 1679436755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘m' FEOAA F UH 3, Tower Bemr @’ g T &ifaS 3T W 0 ¥ AFd 9 ¥ gART A1 §@6T £
TFFmIoFPro<t M Biamiocsowaotawm s s
FROT HTEUT § RO =0T 9roF AT &1 7 F1 g AT AT H (@ [ow HOT =107 Hioewas gl

Options:

a
% 2



Question Number : 135 Question 1d : 1679436756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

v oA MO gt F o a9 o9 U% #9d ¥ @ IHA SOEWE T TS AT § 39 Sl @
TEHIH % A HT 3T GYOTA T 1 rev per sec (TF I Fhs) g, A oF F@ 3eg HT WR
& WY Fiadr g, d 3T GO TS 3 rev per sec (TF Tia Wehs) e a8 AT gl & AT H A5
3-ITEI'U;I'EFI'3-|=|3*-II¢J T BIem?

Options:

x9:1

4\5:1

Question Number : 136 Question Id : 1679436757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2 m 3T 3 m FSTHT F & FUT 3OS IREINF TR v wfafear & wane F ofowe & A el 5=
BTeH T F J@r & W@ gl § FSTAT & I AT g H1 AT TF FAR OUF I =saiea #:a
g, 3% 9= 1 g R ¢ 3 Rwen &1 g Fofm w3 L g, & 35 Fiof 391 Far g

Options:

L

% 2 mR2

L

% 6 mRZ




hi
v 6 mRZ

L

% 3 mRZ

Question Number : 137 Question 1d : 1679436758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF g F g A ¥ IR T F IR H A#R FT AT § AH 7 3FaR 9% B aF TG T
AR ARGBR I AT SR T F R ima g P iR QT =r &1 (Q P
T FUT B)| 3w, @ Reedt #§ ¥ 39 a1 e = 22

Options:

sPHQTF TN IAA & T7F Q ¥ P dF FRa & &7 ¥ 30 2l

«PTQTFFR AT F TAT Q T P 7% FRa & ¥87T &F IU=T ¢

s PTQTFFH AT FAAT Q TP a5 = 5 TAT ¥ FH gl

L,PEQTF I I & A7 AT Q & P d& R & §AT &7 9T T 3319 §AT & 31 & T g

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.

Question Number : 138 Question Id : 1679436759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FeARR TUTH & UF BN W 899 Feohel & (@l (8 9 T aR @iam S1ar gl Feanr & ar & gFe
'o' gl IR & ues I U FUT garT o I gHy e gen?

Options:

, cosa #m?fl??r

v ¥ TEaT

. cota & FATIIT

. Veota & FHTTATT

Question Number : 139 Question Id : 1679436760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



T 7 & SR & P A W BT A a9 o 3T I 9 Tocasmuol g9 faadd 391 e a9
FET FLar?
Options:

. Shao Igem HaH
% shad argy =aH
« TgeT 3T draw FTH

el g A

Question Number : 140 Question Id : 1679436761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T TR W (ITT TrEer #ten) ‘R {3 &t $Ed A & OF §4r F0 T ¢ O @ Jo
ST T F HE F ST g1 FENS &F F FeIAS M U7 g 9 A g F 56 AR @
e EANT SEUATA 1’ % FHOT 9 YT e AT TNer & Hel § {3 Ao WY Y@ I FEAS A *

$7 ¥ gl o W o ¥ AR 7w g e o (1-25) ¥dy we s b

x yz
Options:
v 2X
+ Ly
® iy
R
y
® X
R
1+—
® X
subject Related
Group Number : 8
Group Id: 167943124
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No

Break time: 0



Group Marks: 20

Subject Related

Section Id : 167943183

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 167943390
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 1679436762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
UH %5 T & dgd U FUT T HAT & YT FHGOT r = e~¢ gaANT g2 AT g1 I qF FA g7

Options:

« Fiaays 3T r* Fr @ TSFar B

» HEEF HT r* fr 98 ISoaTT

« FaFss AT r 2 $r @ TETaT B

o FTHSF 3T r73 B E TSI B

Question Number : 142 Question 1d : 1679436763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Brdr og Fr atE 3407 e & 98T BT 1 kg FeUA W U 20 cm o€ 9000 U A ©F HT UH
Y & 10 cm g & &= 30T 99 1 U AT 3T ©F F g 2 kg g

Options:



GXIGEN
% 3

SGXIGEN
% 4

Question Number : 143 Question Id : 1679436764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
M & 1 cm = ve g W TF F1A (25 cm x 10 cm x 4 cm) & TH HWE TH ST BG a1 gl

2 gcm ™ ? Uelcd drem W B ® 10 gfminﬁﬁﬂ?ﬂ?#ﬁ?@%’iE"Eﬁl‘ﬂﬁﬁiﬁﬁiﬁ@ﬁ#ﬁmin
FC FIeA & AT TH F ST FAT gFM? (AT AT g = 10 ms ™ 2)

Options:

» 780 N/m?
« 390 N/m?>
« 260 N/m?>

« 650 N/m?>

Question Number : 144 Question 1d : 1679436765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FESioes 99 % oI 3T 92 frea & B=3r F3en 6 cm 3T 72 cm g1 IF UF g N9X @R FH
AT & TR ST FT IO 4:27 ) g T F g5 W UF a9 F wyeSA o] o S g, & 92
Rreeer garr der e o ser =gea & F &r gen?

Options:

« 81 F
x 144 F

v 972 F

Question Number : 145 Question Id : 1679436766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



Ter fafrse wge & goarey EAT newtons/metre? # E' F A TOTE AR TE F IEa g
newton/metre? 3 kg/m> & Faer: B AR p & T2 F 30 @3 T AFAA TS F IFAS TN

Options:
E

« P8

3E
% 2Pg

Question Number : 146 Question Id : 1679436767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TH B IR FT 9T FT Er derer g5 0.1 msT GREAT F A A9 grea Far gl TR Froafesar F
I UF §g o & AT T Fer A §| 79 WA A9 hdar gem?

Options:

;
— ) x'rg o
T

Question Number : 147 Question Id : 1679436768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

0.02 sq metre &SFer @7 &r 22 “oed 3 &= 8 X 107° Ay 5o ber § & 37e0 e & v

HTITF ToT FT UTAT HITAT| FoT FT g JaF = 0.07 Nm™ 1|
Options:




« 35 N

% 40 N

Question Number : 148 Question Id : 1679436769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TS WTEYT & YR & =418 20 °C 9T 24 cm g1 3994 94T ¥ §d & g€ a9 & JUR &
& Fe & 3R F27 ge? 7E R # B seue & iR Reaw #m oqens = 12X 107 °C7 #

Options:
% 123 x 8nx107° cm?

% 12°x 16m X 107% cm?
x 12%3% 8n X 107° cm?

L1273 16 %10 em?

Question Number : 149 Question Id : 1679436770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
vh O AT ER AR iR P sRE A MNL s AR S Mt mRmw it &
V,=2V, , P,=2PIT, § T H T, , Ty Fr 701 FifSw| (98t &1 3001 T AT 7T 3)

P

Options:
# 2 TL? TL

A BT



¢ 3. (15IT;

® TL: ZTL

Question Number : 150 Question Id : 1679436771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Trafaf@a 9ot & ¥ S 91 3AvT J87 &5 31 @ 22

Options:

, 77 ferar

& OIS & d8d FAET T =R

Question Number : 151 Question Id : 1679436772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

v 21 o faeEr, BEd 11 A9 98§, Y ‘m’ geuA arer REed & suey aei & Fafee awar
gl 7fg freea &1 '« gt & SIRT 915 HR T A § HR 3W e W A B, Beea o dEy 7
3T A AT w3 SR wEardy (rswtee) @dr ¥ Rest & ammae V, s IR e
(FF TFE) &F a g1 AT AaT ‘1’ 5541 BT g, & x2 3T 3=9 afFT Fr affHT FE ToEEE
frar o wea §1 Rieea gaRT oL 7 geE P R

Options:
1 |2Pa
o e an]
1 P
21 |ml
4
1 V
2 |ma



1 BAre

- 2m | ma
b

Question Number : 152 Question 1d : 1679436773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF FEARTCRAT JOTel HETT ‘1" | 37aEm 2 H 9igas ¥ e g, ot waer @dems (PIT)) 3R
(P,V,T,) & 30T &, ST&T TaTohl &l TaTsfliass 3 gidar g JUTell 3T &7 THSIUT 719 &1 39,
FRIFT TIET0T F HuR R Feafafag F @ e soer & 51 g 22

Options:

% ()
s (P)
% (1)

% (S)

Question Number : 153 Question Id : 1679436774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e sAfis A9 F T e 3k few smras X Rflrse sar &7 3o V) ' 3 3w A
A A F T Y, g1 ar Yy Y, fRed swew geme

Options:

x4d:5
SR
2] 25

% 24 : 25

Question Number : 154 Question Id : 1679436775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 1 Wrong: 0.25

IGASAT gaE AR 27 °C W AP AW 1 m’® as A S () H @fAa f S g amw
TIAIT] FHT FAE S 3 AU gl AT FEd T (FTE) AT ]

(1 wx&my gard = 10° N/m? | kg = 2 X 10723]/K)

Options:

1P

v I

Question Number : 155 Question Id : 1679436776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

e TEffee S5 1 2&7ar & & g9AT & 20 °C 9 &F Fd W 20% g, S&7ar 25% s Far ¢
T & Hqer a9A= B3 @89 7 79 w=X

Options:

% 77
% 107
« 127

% 147

Question Number : 156 Question Id : 1679436777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TH.UI.UH. & TFU9a 918 §HT FT FHRIOT ¥ = {5(:05(”8—5)+ 12 sin (T;t)} ST 'x'ecm H B, AR
‘t' Yohs H g1 SHH HTTH AT 1|

Options:

P
% CGSS CITl



# 8.5 cm
% 17 cm

« 13 cm

Question Number : 157 Question Id : 1679436778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘7’ FETHATT F TF FUT & Foll & 3AA §,F, = —me’x; Fy = —mw’y & WER F§ad T & TF
g Rt x =2 =0 T GTTeT LT &1 3R FaT o Fher H1 &F &Far gar, o vois &1 HEA

dt

HTIOTH &7 TH.US.UH. Tl (JAPT &7 3T TETeTasd 3797 8)1 For fr aRomsr oify &1 9sivas Far
arT?

Options:

, S
%
% FHiaotgerT

% 9{deld

Question Number : 158 Question 1d : 1679436779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
10 g FETATA T TH FUT 2 cm HTAH FH TH.UA.TH. Feafeg aX @ &1 o9 &1 39=r sitmg e &

AT §, @ SH Far 2 X 107* J g g1 3fE sHer v 30° @ & v & Afy Fv g A
N EIRAF T AR T s R o Fov e @ B oOfFw ik T 0
UehE H =g ar T g

Options:

x = (0.01)sin (10t + g)

#

_©=(002)sin (10t + g)

x = (0.02)sin (20t + g)

#



x = (0.01)sin (20t + g)

*#

Question Number : 159 Question Id : 1679436780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
0.2 kg SeTATT &1 U U 1 Nm ™! &R aa ¥ 3 FAEr (TB9eT) ¥ oeear a1ar g1 JoTer @ TF

HIFACH §o SH T FY FIAT ¢ o Fowrdr F=7 6 N arcshifors 397 10 ms™ & He&T g1 Tl Jomer
TF AT HEEE g, F= 10cost & 3nefim g, & e aRw=ror ik 7 &9 & & TRor 3aR @
22

Options:

Question Number : 160 Question Id : 1679436781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

= g & arAT 30 °C ¥ 1 °C FF F¢ T g, A g F a7 afy (77 Afew 37 v v e
#T TE THEER FAT 8) 1.64% (TsT) 9g ST g1 7 (WUOT A F F4E) F AT AT

Options:

® I

« 40

% 45

% 48

Subject Related



Group Number : 9

Group Id : 167943125
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Subject Related

Section Id : 167943184

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 167943391
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 1679436782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T ¢ 55 km/hr F IFAR ¥ T Famer TgEr #r X S W E IE TWE W FT g0 W E W AEgfea
570 Hz 3T T ST g1 & &7 917 $T G2 7 45 kmvhr #7 I1TT F gaT 98 W T TEE W TH
et garT P Ts W v amgfed A ) (8ar A ey #r 3w = 1150 kmihr)

Options:

% 595 Hz
« 5975 Hz
% b8b Hz

% 580.5 Hz

Question Number : 162 Question Id : 1679436783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T HAART 9 & 9 &Y 3¢ §| aRi S w6 48 1 25 39 A g, 3aT St 3 1 39d H g
TR O FuAT 1 9 H AT g1 I IR F FA 4 1 g A g ar fmer B & A 240
Hz g1e 9 %7 g8 SR &1 amgfed 1 &



Options:

« 10 Hz

x 12 Hz

# 15 Hz

% b Hz

Question Number : 163 Question 1d : 1679436784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ohm

= 9
henry

Options:
® 5

Question Number : 164 Question Id : 1679436785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

frr et s = TR MR P e F o 3ea # U TAE S0 39w F Ay afaaEe
‘M’ FSTATH & FUT G HETHIF &of FT U= &dT 4T ¢l

N = Noe ™™, F = mw?r (5! & 3aar Tarefas 7 §)

FAT TES THHIOT H A FH TAF HAH § FAT [ GO AT F FR AW g g7

Options:
® M

Question Number : 165 Question Id : 1679436786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



A%s*kg im? Fos s 2
Options:
% (farad)™

% ohm
% mho

e $s (farad)

Question Number : 166 Question Id : 1679436787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

1 KWh & eV & =oag &ar o am &
Options:

v 2.247 x 10%°

% 1.124 x 102°

% 2.247 %X 1023

% 1.124 x 10%*

Question Number : 167 Question Id : 1679436788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



U—v ﬁﬁﬂmmgwmﬁﬂﬁmlw FEETS % A FA H [0 T g4 H g

L b= 9 R S T ¥, oW e @ S s A A e & R A9 aftle 9w

Taforat =1 =y fFar s &

(p) FoUF Faelepel U6 & HeJ®T HEACHSE & ¥ 0T 7 978 3R 3e7err 3w o amam

() u AR v F W 71T AT F 39T FF wmiﬂﬂla-ti?ﬁmwﬁtﬂﬁ?rmﬁ% ar e F
Trarat & orr 3 an, 3R 55 IR (7 #r Ao #r g

(N u AT v F & 7T AT F 3IART FIF AE a1 747 3R f F A H A0 TF W T &g @
u-v % A AR I

(s) () & TE u TAH v AF HT T H IHAT U & & a1 U = v W@ H Fa=oed = &

forw a8 1% aamn T faetes Rig isu = v = 2f § @ & f # e & s
39FT AR H W FiT A FEH ST adE g2

Options:

% (P)
v (a)
% (1)

% (S)

Question Number : 168 Question Id : 1679436789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

qq::rTzszg W] T §U Tk WIS g H SUAET Fh ‘g H Hed Wod fRar S g, U #
HreT & YA F1 3997 FF AT AT & OEE gey orer {ueT 1 mm §, 3R T #r =T 3" #+v
S9AET 4 AT ST & forgeT @5 BT @esT 0.001 sec FI THF AN AT F Bwl = 1 m 3k
T = 2 sec &I 30T 57 g # T £ &7 ol ¥ 10 9 rg=1or & v 5787 &7 7o 20 sec &
T H F A 71 AOan v glawd I FAvr FE?

Options:

v 0.11

x 0.22

% 0.01



x 0.20

Question Number : 169 Question Id : 1679436790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T el ST 20 m/s H AT F I @I g1 TMF 9 TIT TF 3 T 3¢ & FeaR FH H AT 10
mis & T T Berar g1 IMEr Fr it Fr fEem x -37e7 Fr AR g, T Feanw Tedea v - HeT 7 3T E
Wﬁﬂ'{mﬁ@'%ﬁﬂa&ﬁm(x, y, t) 3R T F @y (', t) @R afenia B o g
ST g 1 FEEEE I gl (). F @Y (xy):(Cy) B OEE R ge rs s s
FHor o) A ffaw g = 10 mis?)

Options:

x =0,y =10t — 5t2
. X' =20t,y’ = 10t' — 5t"

x = 20t,y = 10t — 5¢2
pal= 0y = A0 —Bt"

x=0,y =10t
g V= 0" =308

x = 20t,y = 10t
« x' =0,y =10t

Question Number : 170 Question Id : 1679436791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

wmmv2:4x—xza§rwmﬁ§vﬁmﬁw;&m%1ﬂﬁfaﬁ‘rﬁmwgﬁﬂ‘?

Options:
# 0<x<4

Question Number : 171 Question Id : 1679436792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



U FUT fOUH ¥ F @ O & AT 8, & FHH 30T FAH HAT FHEHIOT
=p-q ¥
& p 3R q TERAS RRE §1 39 FUT ganr #Owmas aifa F 9vg = 9% 99 g # o
HITAT|
Options:
p3

% 4

Question Number : 172 Question Id : 1679436793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A gAE ¥ ¥ &g 77 ¥ gefog ar g fr aw g

(p) T FATH TAT TME A HAH ¥ TR Jrer T Hrelh I@r gl g

(q) 3T & T # FTudw & @y @ d@9y @ g

(r) 397 &7 FFAUET & 97 & @ @ e 2w gl

(o) FHIET & e farume yadr AR faw = & @ e A g B

IRFT FUF A ¥ Fid & T 2
Options:

« (p) 3T ()
» (0 3R (s)
« (@) 3R (s)

w el (r)



Question Number : 173 Question 1d : 1679436794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U FEFT 95 H 10 ms™" 397 F WA S @M 7 3N FE 3o} H AR ¥ ag W g1 B @ ogan 30°
efaur-afas $r 3k =T Far g1 g9 F a9 F7 afimor g9

Options:

v 10/3ms™?

% 30ms™ 1

« 30/3mst

10v3
T ] R
® 3

1

Question Number : 174 Question 1d : 1679436795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF FUT TF HONT AT w = (21 — j + 5k ) radians sec”! F Wy wHEAE Foiw Ay PeaRea & @
Tl 9 UY (TH-ET HeT H &) & wor & BfY (-1, 2, 3) ¥ ms! F For Fr W= I 79 FL
Options:

. 1214+ 10j — 3k

,—13i—11j+ 3k
« —11i+ 135 — 4k

« —12i+ 47— 9k

Question Number : 175 Question Id : 1679436796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

P 3R O g g o7 & aifas §ag & FAT 8 m 3R 12 m F9 &1 PO =5 m| =gaaH 397 &1 grem
e ve For Aot Wag ¥ 56 oRg Vet fohar Aw 6 78 P AR O & 2 (g = 10 ms?)

Options:

%« W10 ms™?



% 4/Ems™1
v 5V10ms™?t

%« 575 ms™1t

Question Number : 176 Question Id : 1679436797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fis g v @l W@ & WY §A9F 79 § Af0A g1 7 gl W B g @ swer Fiofim a e
TeFIT TEea?
Options:
1

®8r

1
o T

Question Number : 177 Question 1d : 1679436798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

7 FEEEt F 9 ¥ T aw § S v fig W os @y FERa O 56 5 GRAT F TR 8

() 2, 8, 9
@ 3, 7,9
) 3, 7, 10
(s) 3, 7, 11

frw foufy & Hgew @ a8 &2
Options:
% (P)
x (9)

% (1)



s (3)

Question Number : 178 Question Id : 1679436799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

sae 10 m & =il s 99, v Rwdr fhaes e W oo W@ 81 399 & @ 3uAEe S99 o§ad
FeH ¢ £1 3H FAG 99 = 1 Aoy g O § 3 m F gl A= T 9% or 5ws vy 37 w9 @

foreetr 8F? (g = 10 m/s?)

Options:
v 6 mls2

% 3 mls?
% 2 mis?

% 4 mis?

Question Number : 179 Question Id : 1679436800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF AN THHAAT BF Fod H g 3R 38 Te fAU v §Age Feauy dan W fea 7, A g e
38 dAR # 45° W foug wAde W feFr g1 3fE o Bfes @ 53 % g &1, @ tan o fraes awEw gem?

Options:

€ ® %
b | = W | = La| =

®
O =

Question Number : 180 Question Id : 1679436801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



NgFETAT F F R 10mMs F I A F WF AT TT G I e s W R E mis =1 &
T AT 20 g FEAAT & g ® Tl ¢ TTG THed  §IG, Tgell [9s A H AT AT O TR &
a1g gEl T3 &1 39 fasaar grem?

Options:

% 2.5 m/s

% 4 m/s

% D m/s

« 10 m/s

subject Related

Group Number : 10

Group Id : 167943126

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Subject Related

Section Id : 167943185
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 167943392
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 1679436802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



wﬁ?ﬁﬁ@@gﬂ:mﬂ(ﬁ?aﬂww#ﬁaaﬁmﬂmﬁ=é)wmm%wsﬁrm
AT T A 58ed ¥ Ukl & foIT P, T 94T AT g1 58§ % & 37 AT W 7 @EF F
fore P, oemmar Ser 1 g A A % P, P =2 1 99 TEGS & Afaw ¥ g fhaer gem?

Options:

. tan™1(2 — V/3)

v 45°

tan
®

[

% 60°

Question Number : 182 Question 1d : 1679436803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘M’ FeTATH F Tk T &g FHA W ‘hy F9% 9% 3o ¢ 63 F89 W e & 9 e
‘h, F=T% I 3Toar g1 SHST =T H U FL

Options:

o W2gm(Jhy +h,)} FEma s & R &
. W2gm(Jh, — h,)} v @ # R
. W2gm(Jh; +h;)} semea e fen

 Zg (T —T7)) s A e

Question Number : 183 Question 1d : 1679436804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TafafEa & @ w9 a1 siEaaa ga/aer 2272

(p) & FSTATA & T TRcATHIUT FoT
(q) ar T&R 3maeit & o= 5o

(r) 3r 9N 9arfed FEaey & = 9o
(s) & TAg W YT FoT



Options:

» Fae (p) 3R (9)

« (P), (@) HR (1)

Question Number : 184 Question Id : 1679436805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TF HHF HIA FR FEARR 4 m 9 IIEAS TH I MfHE AR $E 7 THR 3o g, F 5ol
$C 30% TW 4 ms’| F fa & wgeeh §1 IR 9¢ 59 TR & 93w §e 30% 99 0F & 9%
wgﬁq@,ﬁﬁmm#ﬁmmﬁmﬁmﬁwm=10ms'2)

Options:

1
v 6

Question Number : 185 Question Id : 1679436806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TF -3 sREaaT Fae Fr FeE ¥ ¥ T ST g
Vix,y) =x?>—xy +y* (5= #)
ST HTHF FOUF (2, 1) T (3, 2) FF o Fw # F1 F17 Far Fwem?

Options:

% 2 J




%3 d
« 4 J

5 J

Question Number : 186 Question Id : 1679436807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2 kg ZSTATT F TF 5 T 99 W TH TN I 9 T 2. & suhr 2ufy afeer 7w & woaT @9
T a0 weeoT & w9 & cued O e gl 7= (3ti+ et j—t%h)
aﬁ‘r’mﬁﬁ't’@ﬁ%ﬁﬁlﬁlﬁwt=0#t=1secﬁ?a’?ﬂﬂgtfa?ﬁﬁ'ﬁ?rﬂmaﬁ'l

Options:

% 41 J

% 52 J
v 61 J

% 72 J

Question Number : 187 Question Id : 1679436808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

TH 50 g F A 10 cm AR FER AT MeH F T W R g N 71 VF F g 9% w9 F
HAT TR HT 37T 500 ms™! oAT| FF F AR e A F T ms F F4A g, IR M F gEa
AT T&F FT T e 4 X 104N g

Options:

% 200
« 300
% 400

% 500

Question Number : 188 Question Id : 1679436809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



wF g WY {Auw sErwr Fr gudl g @ ot § AR due F g RAuw = 7 a4 S g oy
THAT F FROT FHAT a7 [agrs TRINF A= F=ir oo & Far §, ar (e o o7 H 70T
ey

Options:
1
o 3

2

4
b | =

¥
N

Question Number : 189 Question Id : 1679436810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
T g7 FH HeI ga1 H ATde a1 Teds OIS gos #1 aiuid 99 a1 grem?

Options:

% e @r
% HTIART Ha9=aT

Question Number : 190 Question Id : 1679436811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
60 cm ol UHHAA dR ¥sr ABC & H&R H $H 9@ ' &, [ a0 BC, CA, AB Hqad

4:5:6FEFI xyz A (3TA ﬁ}?ﬁﬂmA,ﬂCW@mgﬁTﬂgwm%ﬁ?

TReATRYOT T g FINEfT 9 g8 g1 A vy z frEd auew g
Options:
% 32

2$'8:5:4



«11 :10: 9

Question Number : 191 Question Id : 1679436812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3 TR fAeist & A5cd HTEUT & T H SEH FeIA m’ ¥ AR el F 3987 & 38 aAE
=g Faer ‘) HR ‘B

Options:

m
i I(le +?"22)

_&??(le +?"22)

i ?(?'12 + 152 + 1y13)

i %(le + 1%+ 1i13)

Question Number : 192 Question Id : 1679436813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TH & AT e 9= 36 avE g4 98 § S x -3n7 afas sl y a7 g seea A &1 10 g
geuA # v Uz g (4, 0) (392 A A7) ¥ HF9 & ¥ Pra & Fw ot s g s &
Ao @ et off 7w\ T sHer et fhaer geme?

Options:

» 0.4k Nm
%« —0.4k Nm

, 1§ FFd T

&iﬁﬁ'ﬁ'

Question Number : 193 Question Id : 1679436814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T=fof@a & @ =9 @7 Nsm? S| s#© &2



Options:

%« TThRY &
» FrAfRTE HTE FTRITEer (earaan)
x TR

x TS FEH

Question Number : 194 Question Id : 1679436815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
* = j'lt'
HTFTT THFIOT mix + kx = 0, & TR T TS 37T 2 ;,mmwaﬁw

Options:

W
w LT
g T2

v T2

Question Number : 195 Question Id : 1679436816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Kg m?2s2A7? TFges se grem?

Options:

=

Question Number : 196 Question Id : 1679436817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25



0.001 cm 3F9aH AT e UF TEe & TF aR & SO0F & A J e IE 1 7 F 5
3237 U 0T T AT 8, AT a7 ¢ forar 3 T A9 0.313 em, 0.313 ecm 3T 0.314 cm o

SHFT AFET FT gew?
Options:

% 0.31333 cm
# 0.313333 cm
# 0.3133 cm

+ 0.313 cm

Question Number : 197 Question Id : 1679436818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HP-hr # =099 1 Mev &Faes sTET g2
Options:

% 2984 x 1072°

% 2.984 x 1071°

¢ 5967 X 1072°

x 5967 x 107'°

Question Number : 198 Question Id : 1679436819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25



mg.i',?'

Ty = | 5; 1 TART HE W H AR @ dm B el F @9 quiss (y)AErer S
Fer m = @E @7 W or] a5 g Gwe A e B s 7

I =1 mm 3937 AT I HeX FAR IRT A 712 7 Fr o=,

b

0.01 cm 3w (FFW) s T Toss Sfoow @ At 718 17 & g
d = 3e9aH A 0.01 mm & TE ae T § AT aE AF TS

§ = 17 & ¥TAAT ST AT TUwE 0.01 mm & TIET T ST ASHITHT H A & AT
I
AT % T AfwaH w@3E wiowd e b AU F, F9 IF fGTm T § fF wafd g
l=1m b =2cm, d =05cm, § =2 mm &l

Options:

% 1.8%
v 1.9%
x 2.0%

% 2.1%

Question Number : 199 Question Id : 1679436820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Te-3TaTET ot i By & 3 (v) 3 B (x) F fw FEw v = 2 Jalxcos x —sinx) | F g@W
o I1ar g1 FET ‘a’ vk TR g1 SHe TEuT i IUEAT FI

Options:
® 2axsinx

# 20X COS X

& —2axsinx

% —2AXCOS X

Question Number : 200 Question 1d : 1679436821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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TF I 40 km/hr & T H FF 9§ U FUA F e 81 1.5 min F T sl dee ¢ H &
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FI FOT TF Wl [T F AT FT @ TE YT F YT FAT g AN TF FAA {07 ‘@’ @ Al Har
g}ﬂ‘v’éwmm%iaﬂ'{g?r: T HITAT H A dF U FAW IRy § b oAfy W oaer §) 3R
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Options:
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1 For # ar i o1fy & BT x 3t y ge & @ = & #§ zarar s 2

dx ; dy
g 6711 sin 21t e 31 cos 2t

et =0 AT W x = 6, y=0ﬁm§m%lﬁm¢wmmﬁwm:
Options:

xX°+4y*=9

¢ X2 440y —3)® =36

o~ 92 1457 =9

« (x—9)2 + 6y% =36
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2T AT TF 400 m HE FEr FF 9K G 2 AT T H TAF A9 @ g 2.5 ms ! 3w fr oy

1.5ms™ B U a9 G TIH B I § F7&l 9N A A T FAT p sec ¢ Fqieh GEU AF GanT
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"
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% 20

« 40
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AT F b e 9 F1% T3 4ms 1 F Afa F iz &, O WA Fr 9 /R 4ms T Fr oAl
¥ wraad e 81 sxara i 98 3uR 45° F 0 A ge o oty & e

Options:

% 2 m/s

% 6 m/s

« 8 mls

« 8V2m/s
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S FAE 9&T F9 AT FHEE FET FIUT IR Feifg Y S W & REr cErr av fr Feanr
HOwarE Fa8 FAWM 12 m 3T 27 m &, @ I F1 A F4r gem?

Options:

# 36 m

o 712 m

« 482 m
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ABCD T& THEGSS &1 $8% TRAWT 3R fGew &1 ##er 4B,AD , BC, DC % ¥ & wgfdd fam orar
g1 TROmHET g $r e e

Options:

%« AC &r famr &

4« BD &r e &

. AC @ gRfaaiaa axe g2

_, BD &1 gfafastioT #Xer g%
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SkQWWWﬁWWEWﬁmﬁmg&n%l@#W%%‘Fﬁﬁ3cm£f{&
T & Tod §HHh FH Y W o gT §1 aR W ARG H1EOr 59 e # (g = 10 msT?)
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61N
# 8
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‘M EETAT F UF W5 ‘o’ g W T | I TWR g9 P, gEaA ¥ 6 FUT ¥ 3RS FFar S
g1 ofs 38 3 3N #Faw & &= avor qUne 4 B, d@F P # A g
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{4 cos o + 5in &

ng. cosf@ + usinf

1L COS OC + 8in

M9 5ing + pcos@

&

COS ¢ +pi sin o«

mg.# cos 8 + sin @

#*

4 COS o€ + 8in o

M9 s + using

®
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‘™ FEIAH F B U T T H YE W oed F HAAd L FAT F U Frar d e o gfr A 3w
9 o Ry & @ & v sEwws Feaa a7 gen (‘m’ fFeena # 3R e @ A A 7 @)

Options:
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&

% mg 2a

tz

&

® mg 4a
Mg (1 +%)
gt*
” Mg (1 - 2&)
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W T & 10 m FT 3915 % T T gan o fa & 33 o ffa & & s smar 81 55+

HRIEOT H T ~gATH T \E sec ¥ 3T ITTAT H TEHT SIRT UE T e I nW 2T &1 ‘n’
T ATH g
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% 2




® 3
D

% 10
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7 Tore & w97 98 g1 & 17 gosl 7 foefoa & Sar 8| 5EE ¥ & F R 100 g §| e

120° & 0T 97 980T &Y § 3 9e3% F F97 100 mis §1 ST ST 92 ST #ET & gaT For F
a’rﬂ'l?'ﬁ'ﬁ'ﬁw'lﬁﬁgﬁ'QEmfsﬁ?ﬁﬁ?ﬁ'mﬁlmmmqwﬂm IH H Fgar geEm?

Options:

. 200 g

, 400 g
« 250 g

. 500 g
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T ST OPQR # OP=PQ=QR &1 P,Q 3R R 9cd% ¥ 10 g & &X ok g ¢ foed ¥ o difas
ﬁ?ﬂmwmﬁﬁﬁﬁiuﬁaﬁﬁiaﬁrgﬁaﬂrﬁﬁﬁw%ﬁOP, PQ, PR & &&aT
3R AT & I FAA FEI-
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12223
'3 2
»vB&:5:3
#3:5:6
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8T Tua 99 I 89§ Tovar Reia § ¥ F=4r g 272

(p) 3T+ FdifeT AfBucFaT & Fera @y 591 &1 A9 71 =7 Tt g

(q) T a5 aRTyr & fFar am &3 =7 g g

() Tr5= (tine) F F& ;T¥F F=1 T w8

(s) ez H FoT T1fg, AT Fer H Fecadr 3R f&ema F1 & &3 & Ie7 v g

Options:

x ad (p) T &

x A (p) 3R (q) T B
« Fad(p), (q) AR (r) =ér &

» (P), (@), (1) HR (s)
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10 ITH FeUATH F TH FUT, F = 2 (sinti+ cost)) =g arel B Plez & Iaea afy & @ &1 7R
FIZ FHUT T F ScHIoTT gell g g, a 38 f2ufy 7 Teore 389 9= arer ofed & A are A
g gem?

Options:

# 100 sin t

« 400 sin t
% 200 cos t

% 0
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TH FERT B BeE # F = (x+ 2y +42)i+ (2x— 3y —2)j + (4x— y + 22)k ¥ v & w=fia
forar T 31 3 gERy afeer few & 5w woR F9 ET S1 w@ear 2
Options:
= A

J_?_FE}'E_ZE —2xy+yz—4zx



2 2 Zz
— =AY —?—ny#—yz—-‘-lzx

»
2 2
L 2
e B — e — A8
® 2 2
2
2 2 2
—x* —3y —?+x}r—yz+22x
"
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—2r

Fei e & i B FOT AV = 2 u,ee, ¥ w9 & WeRiT AT T ¥ @ R S &
337 396 FAT ¥ F1 FoT Fr gAEEET gE

Options:

R,
4

®
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50 g &r T T véﬂﬁ?ﬁmgﬁzkg#wmﬁmﬁ%l o, el FfeeT H oy
F & T HFT g1 FH AT & G 4100 J F Al I #1 & BT ¢l v H A misec # A
AT

Options:
» 205
« 410
% 410+/2

% 820
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TATE AR Hr ar e v @ e & aifar v w@r &) Iy wfadt v oaegea 2 0 1 81 S99 ¥ 9w A
THIST & A ST e maﬁﬁx%ﬁﬁﬁﬁm%!ﬁﬁﬁﬁﬁwg,%ﬁxﬂmm
FaTT

Options:

51
#x 4

Question Number : 219 Question Id : 1679436840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TS g Aifas a9 I @l W F 100 ems ! & wfy & oIy I @ @1 97 U gy g F TR g S
Tt 39T F B oFFT Fa1g ot o Ol Y@ & afy e oerdr €1 Uger 9 #1397 oFH & 9
TeFT 60 cms ! g FaT §1 eFE F a1 aer Fr fEem 7 T Fig fifSw

Options:

x 30°

x 45°
x 60°

v 90°
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3 §AET o3 BTdr FFE Y3F 24’ §, U T97 F FEEH @ BN §4a &1 I9FT ZTA Fg gem

Options:



« 1 91T TS &7 Fg
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I T

%Wmfﬁ'#%ﬁ#ﬂﬂdd TSR T {@T & T A
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T T T FoT HTEUT (STh) ool T U faeda aifa fars & o g g, S fF At % gue & g
W A ¥, THF T & uger 2 ¥FT F FeT Tg =2t — 7 F FONY RO I°T FE ¥ FWF qE
TF YT & ST §| SEE H HIUTT FEAA (U 9T HeE & Few H)5 Hhs H e gem?
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M FETATA ATl T HUT &g B, (b, 0) T &l y-3187 & 3R & A<t $HT 3K A H0T # &g B 7 y-
HeT & FAAEGT FRIEAr S &, FoT F P I & 2 UFT F 91¢ SHET FUNT g AT HieT]
Options:

s2mgbk

w2mgbk
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% ng

: bk
% zmg
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3 AT HET I 31 e gegm3e 'm' 3T 'q' 8, 5o 13H & 9 T ASH AT & SEd 9edw
T Y WS T B SR Yedsh HT IeATT F FHE H HT 6 F WK ¢, T 6 5gd & O §1 3
Bufy & 95f & = 7 g 'a' 8, O 5787 ¥ 0% 75 FF 373 (discharged) fam =T B1 @9 &4
dar & @ g0 b g S g1 A R e’ & Feer # b’ @ glr & et
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a
% 2




%
d=| B
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Emmﬁwﬁﬁﬁqﬁ‘%ﬁaﬁ'ﬁ T IS TF A (28 gd ST T SERE @ T ¢ & b, E
aTY 30 2l &7 o7 S AT §1 o =@ Sfaya Fr 90 B W gEET @Y, S p ¥ Swaq &, A
fFaT SeETer FE F=4T gem?
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V3-1

pE

lE
wzb
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25 T @ BT A ve e T FAE w9 § ARG G Smar § e o 3@ Q coulombs E
ey % Fg A fegd &7 & diFgar newtons/coulomb F AT T

Options:

i

Q
e 125€;
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kL HLHAi_

21

I9ed A A Tt guriy i afiar 1 A7 v FA= %IAEﬂTB#@EW&TEﬂﬁﬂTlauF
g Fdr &1 v guti @ anfiiar w1 Hifew

Options:

g 1pk

% 1.5 pF
s 3 UF

. 11 pF

Question Number : 227 Question 1d : 1679436848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

S/._

C, «nfyar arer v gunfiT &t Fearaw (potential difference) V; o= 3maf@a &Far smar g1 s8s a1
HRATRT Faarer i & Fee o sar 3k G & 3= afgEe X guis @ S far s
g1 39 = TUST & 1 o Qraray V. & Sar g1 B9 S 92 57 F 9 @ yumer ¥ E@Eg Fer
AT
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%

1
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1
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2
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}32 1 1 2 vl
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R f=ar aehr fus 5 #f 7ag 9 oaes o ¥ 3efia g1 77 Fof T o F uE w8 5
TaTe f¥ega Fag AT
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R
Ul'..l.}
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% owR?
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T HERUT UF BF & & H g [HEAr 79 7 HT HEHEy FE AT A’ gl SH Ul 1 AIH
T o & AR FHST FHAT HI oIl H d9HH OTE o g iR 376 T a9 Fww &
Wﬁ%[ g, op AT a #Eﬂﬁﬁﬂﬁﬂﬁﬁﬁ?ﬂmaﬁl

Options:
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¢ Or = ap — 2«
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A

B

FR fem@me v By & wgEr ve FufAe seEersE F 3R # wAe amiiar arer 12 ol
(5% 2 mho % TTER) F HAFH UF Acas 11 AT ¢l g Begd va€ A & A & wawr
T & AR B & AeTH @ FFear g, aF Acad H Jeurs aiiar (mho #H) 1T H

Options:
% 1

4
% 2

% 8
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Tﬁ.‘rﬁ-\lﬂ\‘.;

S SATATATA

| & 10

W

Hpfa # fe@e =1v 9wy F @i 9fai ohms # 8 ohms aTel JfARIY & SERT EleAarel faegd
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, 75 wa

-
e
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15 @ Sfaty ae deadey & gfotus § 5@ 0.02 amp #r Rega varfga & S g, o 98 07 A=
o f38IT0T (deflection) 2T &1 $& JUT S5 W 15 A I 3efrex #r §ffer F fefda B e &1 5w
3237 F AT 39T F97 0.04 ohm F7 o gfertyr G o7 3 Sifeg 9fieas &2 s a7 smeer?
Options:

0.01 Q ITer JIEY F AT F FATGK H AT 3T g7 FiEgaea = de=HeT F Oy gA=a J
4 SIS & AN

14.96 Q arer gfalrer & Seatdler & @y 8o J FigeT 3T 39Uy T # FEaaT & J@ry Su J
» S & AN

0.02 Q ITer IR H AT F FARGT H A AR TF FEaa= H Seald@ed F TY FAATHR H
, SIS F AN

14.58 @ arer gfatre #1 deaHdeT F Ty S § Figer AT 57 FEgaea F 39y AT F qry S
» H SES & gEm
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N FEEATA TN g A T ARRT 0T A Regdw a7 E # ¥ b I 7F IERA F €, T F00
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Options:
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et A= (co-ordinates) & Her fig, ™ —gaﬂé&r @ 1 g AR (a,0) T gar A= +§ TET
ST 81 2 e & wRoT G dear T & e 7 B2

Options:

s (3+V6)a
« (3-V8)a
s (3+2V6)a

« (3—2v2)a
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(—q, +q) 3maer arer & gfaye € 3R 9% FF x-387 W 20 F g W 57 e ¥ W 7@ ¢
3ok ar & 8 gl b’ 3R x-378T T 36 G 57 g & —q (0,0) 3R +q(2a,0) | AT
gRYT ¥ AT EfaYyd W FFAaTe V0T a6 A B
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qg> \[(b? —4a?) 1]
% \27€g / |(b* + 4a?)* b

g2 \[(B* +4a%?) 1]
v \27gp / |(B* —4a®)* b

q* (b? — 4a?) " 1
o \4me, / [(B* + 4a?)*  b?




( q° ) (b> +4a%) 1

+ i
dme, / |(b? — 4a?)? b?
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FAA & § ARG G5 71T 25 cm $ F=2m A 7 F Fo S Q coulombs Bl A & Few &
5cm & gt W fRegy & # e a7 H

Options:

newtons/coulomb
« bme,

newtons fcoulomb
v OTEy

—— newtons/coulomb
« 125xne, /

" m newtons/coulomb
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@ fow 71T 9wy & FuiE 'C & uiar e g =ied, SEE A 3R B gt & 9 geae
oy 1 uF @, 2T v Tefr orfiar & A uF F

1
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1
B
Options:
24 P
T
167

s 9%
» 105"



334 .
JZS?M

156
% 125"

Question Number : 238 Question Id ;: 1679436859 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ST foF R & g e €, 99 F A FaE WAy g € (T 49T = 8)) ¥ @ v AR
+q FT THT TET P W @A F T GFaar Far HT 39 TFar e

+q

+q

Options:

1 g°
s \47eg v 2a

1 3q°
« \4mes/2a

1 3¢*
o \17MEy @

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all candidates.
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W?ﬁmaﬁ%#mﬁmﬁﬁmﬁaTa’rRlaﬁTRz“i?r(mdii)mﬁrqqimnga:?ha‘iﬁ
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& 7TT FA F FFAR FEa IS F TT HIS 36 THR & JI - ARG - HArell - & - F| FHeAr
gfaer &
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% +0.5% TEIar & JTY 2.58 X 10°% ohm

% +0.5% TEIAT & WY 36.8 ohm
» +0.5% TEFar & @y 1.36 X 10* ohm

« T10% HETT & WY 4.52 X 10° ohm
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afyder #F femme oo @it gfawre ohms & &1 6 ohm Sy & ganr garer fagga e Arg +Y
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384
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fafg aqstee (tetrahedron) & H&R # T Fio deas IR f&ar 73 §, IRt X% 9R) =@l
?»ﬁ’r'g’tr%‘,ﬁwmmzohm#%tﬂﬁﬂﬁﬁﬁﬁﬁﬁﬁﬁﬂﬁﬂamwmﬁmr
FF TUIE F T 9eT Feroar g, a7 #ae% FT IHET Aeieed (conductance) ATE L

Options:
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% & mho
% 2 mho

% 1 mho
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eI W & N H IR FYF U v g, 3= A
Tt 999 & I # I) SO A 8T 77 g, 3 S

(p) =T 9T F INOTH TEFT 3°AT 3T 2 ¥ st s are-gry s #

(¢) I wrait F FE 1T WA €

(r) o Rega va # ar Bla &= & Je, aF TF e 33 @ I ¢ 3R 3 e A
iy

(s) =rerk & Y% gfady & 3gEr Tt gt § 3 amafy @ g

Options:

« () I (q) T E; (1) IR (s) oI B
v ) 3R () FEr & (g) 3R (s) oI B
« (p) 3R (s) W &; (¢) AR (1) 7oA &

x (@) 3 (1) T & (p) 3R (s) oI &
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e Aol 99y a9 & Fieedrey (Bmewr 3afies 9fatiy = 4 ohm &), Fe109 3aie Ifale amer sl
3R v ey siow ¥ BeeR 797 g1 4 ohm I Ay S0 & USsEe oA & ZaRT HUls W SH
fAere & s gu A # gegEe 30 gm 21 20 AEe # 40 gm A S @ & e aferiy atew @
fw dog W vsewe FE @R

Options:

% b ohm



% 6 ohm
« 8 ohm

# 10 ohm
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IR HEAY 1, G1, —G1, —G; TF T & =X A A, B, C, D 97 @ 71¢ §, 5@ 93+ 'a' §1 L, BC
F AT W gl TN F Fg L I HET ¢, & o A F v Far mw w1 719 5

Options:

1 414,
SR |
% T Ep ﬂ\'{'_ (V',_ )

q.14: (‘J'{_ 1)

4:11' E {11_-"'_

1 q.9;
x HLE, a
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FOAT ‘m’ IR HEA — g, F TH F0T ‘a’ BT ITo TF Ao e & 97 @ ¢l e 3k R
HET +q, AR 'in’ F T F 3gled (n) IEFAT F TFT =
Options:

2 (:rtm Eg)i
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% 24,4,

1
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C,,C,,C; STET aTer it TuiT =7 9’ & &5 C,:C,:C, = 2:3:4 § | A0 3R gawaw & siea &
g 3% a1 ol O1aT &1 HaT 35 7F §| G & AT AT H

Options:

13F
WSH

39F
wSH

26F
-fBH

52F
@sqn
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25 cm F A1 a1 v A F WA & T FRF @ Smar § FwE For @9 Q coulombs F
I % FF F 75 cm g W g &7 @ AT newtons/coulomb # AT A
Options:

4Q

& IME,y

4Q
. 1081 €,

27Q
x 16T E,

25Q
x 4T €,
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R, T3 amer a1 & T e Q & HERF 21 9§ (R, —R,) F AREE F € Regafaar ao @
aregfae (linear die!ectric]mqﬂiw?ﬂmmﬁmgmﬁl M F Feg A F319 A 77 FT
(399 & TIET &)

Options:

Q( 1 " 1 1 )

Q( 1 " 1 1 )

®

Q( 1 1 4 1 )
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'a’, AT el EAthd (earthed) TMeHR AR H ‘a’, FT g W T +¢g JERA &g @ 1w g
9T HEr AT FL

Options:

e )

4
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5 amp # TF fIETF 9RT 1 mm SE F TR F ¥ Jaed & @ g1 Il arder A Hr geea
2% 107m™3 %, o soac=| F AET TG 9T cmisec H AT F (e = 1.6 X 1079C)

Options:
2
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¥ 71T gfygy & @it gfawer @ & #1 iy,iy,i; FT AF amp H AT F

3
i I WA
Iy
- S
: Ig 4
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} I WA
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Options:
11 14 7
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3 7
w 131313
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e sv de 9feiw 2 @, 4 @ 3R 6 @, I FX F FugFT HOe o # # e T F
Tl gfar (Q H) 309 FT 27

Options:
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vs fasEATdr ar @ Fe was 1000 cm g W 4V F REga awe g9 (ewe AT B/E.TATE.) H
T it Zam, fS3EH 460 O F7 v gfawy Suf w1 A oo &, wfew e sar g 10 mV F o
fsraTaR #19, 60 cm & TF AR gaNT Fgfod Ear g AT ar # iy & A A #

Options:

% 10 @
% 15 ©
« 20 @

% 30 @
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TF IR R TF g9 (0.2 W, 1 V) F T §AR &5 # ot ¢ 3R gOiea 2 @ & s gfiois
#T 05 Q F FaF gfay el 2 V Fr v @i @ Avf w7 F gufeg g o 9o & wfRwea
e W TS FT &, af R & #AF 347 grem?

Options:

% 4 Q

5O

6 Q



% 10 @
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BTt FA Tl TF 99T H T F T SecHey, fevae g0 g1 9oy 558 & 4 Q HAEed
FH T, FOMT W 10 e # a9 &7 30 ImH 7+ FHeafe 2@ g, 3t =% 8 @ wamfSa #3720
e & ae Fr 40 77 A FERT @9 g1 SecHAeT F 3aNE oy 7T F)

Options:

1 Q

%2 Q
3 Q

« 4 Q
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TAA ¥ ¥ HEARG 27 7er TAA Farg Jen SINa & ek g1 g 3aEr H SiRal s gEl & 'Y 6
HIOT FAA 81 HE, U1 & el 0.6 gmice Teled AR Tegdd P 2 aef &7 & 3T FeHT I g
ofg I F &= T 39fEfad ©ar & & e % 9gy F udeT A i

Options:

« 0.8 gm/ce
» 1.2 gmice
« 0.9 gm/ce

« 1.6 gm/ce
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Hr RY o1v 9w Fys gAfEHEr Fr sguaron 9 menfa £

(p) T HOfAT was arer T e F e gl a8 soaer & s9ar & 98 WY 3ET F
arer #g-3TT

(q) 3T &F HT WV FAAET FI WER WHT 7T § FEdr gl

(r) @ FATAET T WER TF g H HIE Tl &

(s) U% dega glayd & o WATIE Hag §AGH g g =i e & WS S Je 1@ e
T ¥ gaenfaa T 2

390FT H ¥ FiF T/ FIT T 287
Options:

« (p) 3T (q) =T

v (p), (@) AR (s)
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25 cmﬁmmﬁmm@mﬁﬂwmﬁﬁamﬁam?m mTﬁlﬁﬁ'ﬁWWwﬁ‘g
W N/Q (Fg=a/FaH) § Jggd &7 & dgar 7 H4
Options:
Q 1
o 4mE, 625

Q 1
1 E, 625

®

4Q
u 20mE;

4@

% 1257w E,
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A guiEr afgg 9wyt & 9w Rearm g v §1 gede gurfyE i otfar 1pF ¥ §ues E

© i
———

@ |—| H |"! |:| !—l H |—|
||

® =l —
| H

(s) ’_(HHiHHT'HH’—‘

FRIFT G=ardEr # § FiF @ F=aw 0.1 pF F sust ariiar 3cded HEm?
Options:
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% (9)

» (N

% (S)
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TF THR T TulT F A 8 £ W ok v =i D' ¥ ¥ V' iR oo s & o
¢ forms ag v g fear Ser 81 56 A1 woer & @i At dHR Weega e B w o
WEEgd TE Fgfod &7 & T 1 g 3% Bufy #, <ot & @ier Rsaraw a4 gem?

Options:

n-s(-D

1”?—“[d—t (1— 1)]

v d E
v”t d(l 1)

s.sd[ E]
0
_d__

% [ E]
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ar Furfis Cq 3 C2 (Cy > Cy) 4ol &7 7 Aeew V &1 3T & @y AT §1 55 By # gunfst
T g =1 E1 &1 TR 37 30 dee Hr S F Ty TEGR w4 F A G o g sk
a8 FUIE! #F 9gga = Ep & S g1 Cq & V, Eq, Ep #r wegEelr # AT H

Options:

1
. V2 (E, + JE%—E}EI E,)




gt [ E)
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=21 R a1 oF I HEYEY-GS I TF WAEH A [Gedd UNT & Odcd [¥edT % WY HEG | = kr (1 -1)
¥ e 9iEfda T 31 Tl Tha H9e ArAEw et 7§l Fo g o A w1

Options:

ok 3 D)
K |—— —]a
.ﬁ;« 3 4
ZK(T{ 1)3
% H 4 3ﬂ
;rrzfi.’ag
# 6
HZKaE
% 12
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oy # 2 aiv ofgy #, $efr &7 39 9oy 0.5 @ g1 g 71w |afr gfady 3Edy (@) # g

sl # Rgga g 719 H
10 %
=M
...... T
e [ oo [
T [ 3s
Options:
« 1 amp
w2 amp

« 2.5 amp



« 3 amp
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g2 a1 qRwy F T 9l sEEw (@) # E1 4 Q T Wy # ¥ @ A Regd e A w1

.....

12
20V
Options:
» 1.44 W
% 288 W
«v 576 W
x 1.2 W
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T fAsEArd ar # Fo e 1000 cm g1 36 F 4 V F g 98 99 (3 AfeT wi/
SUA.TE.) Fr el ganr, SEd 9oy R Al %8 & &9 ¢, J=tad har Sar g1 fFeEeT 10 mv @
TF FT 60 cm & fasmEATd AR g wgfee g g1 IfE RereAnd aw @ afoie 20 @ &, T R &
A AT FL

Options:

% 440 Q
v 460 @
% 620 @

% 640 Q@
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A S A SHE @ FeEAd d U T3 e g

(p) T fasrfla @ & @ Ty 3Fta g gl
(q) 5o woT 9Ty 7 Fr
() Foeza arw $r faer fade & & 9T, a9 & T W 55F 3c9eA gl ¢l

IRIFT H T B T/ FI9 TF 827
Options:

« (@) 3T (n)
« (p) 3T ()

» Ha (q)
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TH dTi H woled F FTET H 0.75 m? F STF aTel d & & AR [HegarT (SUFEISE) Uh gal §
4.5 cm #r gt W g 81 38 e (s #wmaa:ag)mﬁa’rwa’%ﬁm
(FT3) T 440 g T e F= & o ve R fega arr sueey w0 F R et & 9=
TRT BT & (@ F WL 3x 1077 kgC™! F s 7))

Options:

»v03V

x 04V
x 05V

x 06V
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Fole a @ TH TP Y WOT B F TH FART AR &Y H 56 THR 0Ud g T 9 T dag gy
8T & ogad {gdr g e & MNHEATT &Y § 9g] Wi ol 9T g 9T # ¥ Waned gl 9Tl 3Eer
AT FY| 9rer F gfawey A

Options:
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aTs /& U BF WO B & U FAGT T 8 # Rud B ©F 3 V ¥ 3w g & o
e R & gAm T B §0T ©F # 9T Regd 9w 9 (S.UA.UE) 79 &)

Options:
#® BIV

s BlV cosB
& BlV sinB

. T
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=TT R I9F UF AR WY F dg H Bl ala << R] F TS Sier 9rer g § S B gt
8] o grareR orer # F Regg orr werfed A § S 5 TREIRE 90T T IONE AT H

Options:

2
Hod
# 271R

,
Hod
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# R
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#® 2R
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ar Fsforal & T3 90T 2mH 3 8mH | A9 & % 39 FRE # Aune 1§ & 396 WER ST FH
UTH AT B

Options:

% 16 mH
# 6 mH
« 4 mH

% 32 mH
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T IiEes # FTuiAE R g gt & oY R JEar wAen 1000 HR 200 ¥ A HEel &
500 V T T& Hhd HJ9ad a7 ST g1 e Fsell A dlocsl g #i

Options:

« 100 V



% 2500 V
% 1000 V

% 200 V
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TF L - C - R AT &7 I aay § e, Tuiiy 3 gfokus & dees F3e: 80 V, 40 V 3k 30 V
glL-C-RAT ga=a & 3IgFd Aecst A F1

Options:

% 150 V
% /0V
b0V

. T
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TF L - C - R #oft &7 arer 9ty & 9wor, 3t gufsa gfaga &3 50 @ 38T 20 @ 3k 9ok
40 © g IR9y F Rega afFT FRF 79 F

Options:

% 06
# 0.5
« 0.8

% 1
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TF FZel H T 0T 20 mH 1 U TRl Tehs A $EH @ walgd faegd 9mr 2 A (amp) ¥ W
U= & S E FIAr # GRE Rega T 99 (. TAE.) AT F

Options:
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% 40 mV
# 4V

% 4 mV
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2 mH 9eHcT T TF W AR 2 mF oTiRar arenm T §eiT 3R 8 mF arfiar amem sy §aeR 55
7 gofag g1 3c9e7 L-C 3o #T IEar 719 F{
Options:
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T HZ
® T

2
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v WEfbe & oY F N ARt § ok Tt R & fiew ¢ ¥ 77 Pt aefeT w S @y o
& g1 SOT B F T 81T T $f Fag # ouad 1 W @ el W IR R FRm R Rg
&7 afE fggq a@® aa (S.0A.T%.) A1d #

Options:

# NBor
2 2
# NBwr”

NBw r2
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T Tl T 1T & 99 W @ ¢ AT 9T 12 cm T FEE T F9 o 811 ¢ AR sEer (e @)
aellehed ol T TAE Wﬁmm%imﬁmmmﬁlmﬂmmgﬁ

Options:
% 16 cm

% 12 cm
« 9 cm

% 4.8 cm
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Teh WehTel Wi Ueh a1 & dd W 2w § AR @ # A9ade Fadie | Jem g9 F915 h aF 57 g
g H ¥ 9@ 3T W THRT & Vbl & [0 33 $T Tdg W T A JTRAr dAfehep! I #GAaH 30T A1
]
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h

v uz—1
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h
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TARE FEA T Al FH TF AF F FR @ A 33 F AT 39+ A Fr mgrgar Fr daemFar g
aﬁ,ﬁﬁra‘ra&eﬁrmﬁ,ﬁ@gﬁf@ﬁﬁﬁ?@%ﬂﬁﬁﬂﬁ#%ﬂﬁﬂﬁmms'mf‘r
g s = e gam?

TET Tehen I &Y T U7

Options:

% #T9T &g
% HTIATeHF &y
% ANF g

v TAACHF 3T ot e

Question Number : 282 Question Id : 1679436903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TETRT freT Ay ¥ 9gq 3097 F eI & ¥ AT wF uEe B

Options:

» T & T MHer

% STToreRT aTer ToreTr



« Y euTT BT J & 9T == hr R

% Moquegs fore
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FTENcEeh! EaRT Aadied ITER! Fd Iadia (Fse) STFg FLT gl

Options:

. SATFAd T § FI A FT
% ek TE= P
» THEFET & T T=T FIT

% 9&=T H
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HIURUT & =T =1 aionE g B
Options:
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« HFTTE/HATYITH

« Tareyor
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T1e-faaTe 3R FTeL-smwOT ¥ Bom & gEoar /ST B

Options:



» HTHUT H TISE BT

% oG hierel
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frfof@a & & 701 wF wHw A0 Sl g2

Options:

% =rgemar

« T SOTEAT FET
® ﬁ'ﬂ'&TUT

v TAOTAT
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=T 7 o e vorg 7, oot & @ = g g1fa $r 3mer g g9ear 5 B
fRre” & w0 F @ 4T 2

Options:

5 U W.UH.TH.S. (NCFSE) 2000 (Feelel FUFHerd HHIF BT FHel Tenele)
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TF TS e O AefefEe #§ & 5w ger 7 safafese == &7 seerfies o 22
Options:

, 8, vrgfa ik Rowa & e wwegan
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T EH FT AT T £ ar FedFr mErmar geg Rer-arTs v [Rate F g
gfeEaae 7 TFhdr gl
Options:

« TTareg fRIET-1ea
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, TEIse FEgfaeRor
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